N £ 0 & & g Al
20149 20l& LB 2SS AE &
N ES
222
S sHm)
HH .ol (AH) - NSAY - By Ol &+ o4 SSa HlmE2
4,528,556 870,223
2Zacl 1,007,177 A 120,748
812,530 64,736
Zg e 359,838 13,026
Br2 | 248,838 22,526
AFS 2tel ] 2,960 0
1 dBet=2Hl 2,960
OOt £8 % =2/dl 300,000& x33| 900
DESI EH wiH 1,660
OF-3xel % HH T
25,0003 *2CH *30 x23] 300
owEge g 80,000 x2CHx1JH 13 160
O&=J &= 25,0003 «4CH 122 1,200
DEM FL(SIHAZ2 45) 400,000 =14 400
02 =224l 245,878 22,526
O1 33232 % AMA 147,108
DRERZ 1,062
OANEE DXIAN 25 1,770& 5024 « 122 1,062
DEINERES 2,000,000& x23| 4,000
DS (HIASSHER) M3t
15,000 128 180
DI 9,200,000& x12& 110,400
> ESCOAtS &t &tz 655,000 128 7,860
DaStEERS 1,643,000 122 19,716
DIOAHHAMUBE = 50,000& x13l 50
D et Z2te|Ab B3l (XIY0l=2)
120,000& * 13l 120
DAYOIMESH ¥ St 3l
(X Zol=2) 120,000& * 13 120
Det=dMPI s (XLH=2)
100,000& * 13l 100
DE= Zoa2aHes Al
3,500,000& =13l 3,500
2 Azl 98,770
DA =2 By AZH (S AIIEA) 98,770
O At Al (tg)
1,029% 64 . 4m x8A| 2b+72 38,171
O S (L)  1,029& *122m *4A| 2b+722 36,155
o2 ()
1,029% 7. 95m *x8A| 2bx72 4,712
OZAHF(HY) 6753 87 m x8A| 2Hx42L 19,732
307 21201 A 111,000 29,000
It e = 111,000 29,000




FA: 2SHSAE A
M BoAE 222
S d=22d (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OXdtiz=z F2EH 111,000, 000& 14 111,000
H=2ANERXNE=> 230,862 229,152 1,710
201 LEr2 Y| 66,042 63,342 2,700
01 At 22l 13,080 13,080 0
O1 gt=2Hl 13,080
DY M U HASE(AEXL 158)
3,500,000& » 14! 3,500
DEAUAIDN(2RE2LdH) Mg
150,000& * 13l 150
DEFNA AEAMNE FHIBAF=2
270,000& =13l 270
D& HIZA =2(3E,848)
220,000& =13l 220
DAYAY otd2te| & E 470,000 <123 5,640
D2 otdze =z 275,000 128 3,300
02 =24l 52,962 50,262 2,700
O1 3322 ¥ HA 9,662
DM HA 11,000& x150&E *23| 3,300
DYHALS 50% *7,808m 53] 1,952
DAJtE HMIIHY ARG (=F &, L™
1) 4,410,000& =13 4,410
O3 A&l Xl 43,300
D& HIAESSER SX(SLI 2MIE
HE) 1,000,000& »2CH 2,000
>SERAII| M2 7,000
oW FLIE(320PRT) 5,000,000 * 14 5,000
OHBELH(E) 2,000,000 =14 2,000
>Z2EAIE(2,206m) 2,000,000 » 14! 2,000
DA (H24I] 2 2) 600,000 *3] 1,800
AN S+, AL 2,000,000& » 14! 2,000
DAAE 0012 & &2es)|
100, 000& »28CH 2,800
DOIAA JIHEE 22 (2HBEZ 2 105)
300,000& 10& 3,000
DEXI EHUAH 3,700,000& =13l 3,700
> SEAE FHl =2 2,000,000& » 14! 2,000
DEUEE Al FHl =2l 5,000,000 =14 5,000
DRIt HMelAld 4 2 A2
12,000, 000& * 14 12,000
206 = Hl 24,720 25,810 A 1,090
01 =8l 24,720 25,810 21,090
PUHEZE M= 24,720
DAZEOIEZI(1,200W) 45,0002 *65H 2,925
D&zl &2 2 (750W) 45,0003 =654 2,925




2N
X ZH -
L= B

el

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
>IF 2HOIE & X (1,000W) 50, 000& *20H4 1,000
>st2 A A2 2T (500W) 7,000 x1002H 700
>E ALZEZIOIE I (2,000W)
1,000,000& = 1H 1,000
> e M 60,000& *20JH 1,200
> et Kl 200,000& x5 2 1,000
DHEH 100, 000& x4 = 400
[ el 150,000& x4 & 600
> otol el A 200, 000& *5J4 1,000
>AHAAAN 40,000& *307H 1,200
D=2 S8 M=Hl 1,820,000 14! 1,820
&I, S, A8 XHHE  3,460,000& 14 3,460
DUABIHTHE &L 2R(2Y 2 158)
220,000& *123] 2,640
> SE&H ME 1,000,000& 14! 1,000
DEN=D AME 350, 000& = 1JH 350
DIIHA WitetH Y| HIIH(E2H 2 28)
1,500,000& * 14! 1,500
401 Al HI L 2T 130,000 115,000 15,000
01 A& Hl 130,000 115,000 15,000
OIS AMS BLBAHAES, I &I
30,000,000 =14l 30,000
OXd=2 24842 AH(A=300m")
25,000,000 » 14! 25,000
OS2 HMSALA W AE2S AHIZAH(XI 0=
2t 9 8JHA, A=62,000m ) 75,000,000 *1Al 75,000
405 XHo&HF S HI 10,100 25,000 A 14,900
01 JHAY 2 E F S H 10,100 25,000 A 14,900
OdolHEH D] 3,000,000& = 1CH 3,000
OYa(DVD)=23t2| 4,000,000 = 1CH 4,000
OCDE 40l 2,000,000& = 1CH 2,000
OdHANE LAl L ASITY 300, 000& =21 600
OCIXIEat0l 2t 500,000& *1CH 500
pIEE=te 221,830 171,830 50,000
201 Bt A H| 220,000 170,000 50,000
03 A2 H 220,000 170,000 50,000
OJl1&8 29 (53) 220,000,000 1A 220,000
202 04 d| 1,200 1,200 0
01 2L Y] 1,200 1,200 0
ONd=20 3 22AHXNHAAL &It
1,200,000& *13] 1,200
301 LprE A3 630 630 0




SN 2HHSAYL
H: ZIAIE 292
Sel: a2y CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
09 HAIAHI EA =S 630 630 0
OX&SALAH = &I 7,000& #3021 x33] 630
EsHE2H 194,647 380, 131 N 185,484
FHEZ G 124,314 96,800 27,514
101 @121 26,254 0 26,254
04 JI2ZtH 22 XNEE % 26,254 0 26,254
OltSF3dHE HA 26,254
>olE3 47,4003 101 x249 11,803
>a32 47,4003 *249/ 128 x4 & x 10! 3,935
>DEFE 47 ,400& * 191 %522 2,465
>AXE 47,4003 *121 12 569
>aald € s 250,000& 101 x12& 3,000
S ESE= 21,772,000 /12€ 1,815
D=RO0A=ZEEE 21,772,000& x4 .5% 980
DROAALEEEZ 21,772,000& *2.945% 642
PEIRABEZ 642,000 *6.55% 43
>INE8ES 21,772,000& *1.5% 327
DA EE S 21,772,000& *x3. 1% 675
201 LBEt2 A Y| 98,060 96,800 1,260
01 At 22l Yl 1,200 1,200 0
O1 detx=2H| 1,200
PIHE dJ e =8 100,000& = 12& 1,200
02 352494l 96,860 95,600 1,260
O1 222=2 % HA 96,180
DS (HASSEX) M2
15,000 x12& 180
DEIRS 6,000,000& x12& 72,000
DAaASIEER2 2,000,000& x12& 24,000
O2 A= 4| 680
D>H A 2EI|(145kw)-B &
1,700 #4004 =13l 680
SESHEBAERANE S 70,333 183,331 N 112,998
201 YEr2 Y| 54,833 37,831 17,002
01 AFR2t2l bl 30,098 30,096 2
O1 etx=2H| 30,098
DolAA M U HASE (I 208)
300,000& x12& 3,600
D& oMl s 750,000& x12& 9,000
>&E2I| HIIEAMN =2 350,000& *13] 350
DASAY otM2te tHElE 470,000 12 5,640




FA: 2SHSAE A
M BoAE 222
Sl MEIISY (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
DEI|tM2e W= (Al 750kw, 2™
Il 160kw) 959,000& »12& 11,508
02 =224l 24,735 7,735 17,000
O1 22322 2 HA 3,085
DM EA 11,000 *54 E *23| 1,188
DHAAS 503 +7,586m *53] 1,897
O3 A& &EHl s Xl 21,650
D& HIASSHEX X (5ZI BAMINE
HE) 1,000,000& »3CH 3,000
DHHEDID] S 110,000& = 15CH 1,650
D& HIHE W (2EA)
10,000, 0003 * 1Al 10,000
DM S, A8 AL+
3,000,000 1Al 3,000
DOESHE 2 A (A=1600M)
4,000, 000& 14! 4,000
206 24 5,500 5,500 0
01 MHZ 4l 5,500 5,500 0
O&I|, 2, SA, ZHHZ(EZI| 1,000W
2l 98) 300,000& 1038 3,000
OLEIIH W2 (222 95)
150, 000& » 122 1,800
OUE #g(s7, &) 70,000& %103l 700
401 Al HI YL =2 Tl 10,000 110,000 100,000
01 A& tl 10,000 110,000 100,000
OS2 E ME2 RANEx(HE, JIAHEY,
&) 10,000, 000& * 14 10,000
HMsAd 2Z2el 3,226,658 2,252,765 973,893
Sg2sgzel 298,238 206,083 92,155
Sgsygd2e 231,448 59,493 171,955
201 2et2 Y| 19,648 21,693 A2,045
02 2324l 19,648 21,693 A 2,045
O1 3322 ¢ HA 15,580
PUESRLRES 8,200,000& x13l 8,200
DESLIN(HIASSEX) dste2
15,000& 128 180
Do ot MES 600,000& 128 7,200
O2 A=l 4,068
>DE2sE ¢zl 4,068
O JIAIEHI(RCIAIIQ 3F)
1,356 1501 x5Al 2t %40 4,068
202 odl 7,800 7,800 0
01 SLHOYI 7,800 7,800 0




SH: 2BAS AL L
HE: AL 2g2e
=
=}

e S22 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OXM=AE 282 A8 0Hl  650,000& «12& 7,800
307 21201 A 204,000 30,000 174,000
05 RIZt2lEt = 204,000 30,000 174,000
OZ82SE, BFEIAY(HSS 2F, GEA
EFXE) M2 ZTEHSSE HLAEY
204,000,000& 14 204,000
SEH2SEANERINES 66,790 146,590 AT79,800
201 LB-2dH| 21,800 26,600 A 4,800
01 At 22l 11,700 13,500 A 1,800
O1 get=2Hl 10,500
DA M L HASE(SHEA 150L)
300,000& x12& 3,600
D& HIAMN =2 (Z0HAS 100)
120,000& * 13l 120
DAYAY erdate] H3E 400,000 x122 4,800
D& otz ez 165,000& 128 1,980
O6 21tz 1,200
DS &H Xz (&0 2F)
600,000& *23] 1,200
02 =24l 10,100 13,100 23,000
O3 Al ZHl s Xl 10,100
D& HIAESEX XN (SLI SMIE
HE) 1,000,000& = 1CH 1,000
DIOIHEHI (MO 22 EI10]12 148)
4,000,000 * 14 4,000
DY) 3 B4 100,000& = 10CH 1,000
DM S, A3t8H RALE+
2,000,000& »14! 2,000
DATZSEEN H-ZE®#3I Fa
11,000& x100= 1,100
DEBE SETY HALL(PC, ARSI
58) 1,000,000& 14 1,000
206 = Hl 24,990 29,990 A5,000
01 MZ 4l 24,990 29,990 25,000
O=&tl=z 55,000& 130 7,150
Od%yl 2 220,000& x53] 1,100
OgEol &dMHE s 30,000& 130 3,900
Ooctelg HelE 50,000& *2& #2028 2,000
O&OFZE HHE A 29,000& x50 1,450
OLEH MEH(L2Y 2 155)
200,000& =123l 2,400
OJASBT FLU(SII2THUH 2 195)
30,000& 203 600
Oos=2=% 390,000& *x1& 390




SH: 2BAS AL L
HE: AL 2g2e
=
=}

ool SeesIue (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OBAg 8 MOUPLY(SHXE) 20,0002 *200m 4,000
OFI, 88,28 &E TH MHEHI(FZ 2 9
E) 200,000& x10& 2,000
401 AIEHI L 2 CHEI 20,000 90,000 270,000
01 A& Bl 20,000 90,000 A70,000
OZER2SHE NEE SANES(EI,IIA, 3
A=) 20,000,000& =14 20,000
X oM = 2t 2tel 330,211 373,400 A 43,189
AAHs2ZG2el 257,065 280,554 A 23,489
201 L2l 257,065 250,554 6,511
01 At 22l 3,468 3,720 A 252
O1 get=EHl 1,200
> 2Bt F | 100,000& =128 1,200
Ob5 =&l 2,268
DOkt 522 R 7,000 «321+93| 122 2,268
02 =224l 253,597 246,834 6,763
O1 3323 & HMA 253,597
PUSRLRES 1,900,000& *13] 1,900
DEIRS 11,200,000& =128 134,400
Da -t MES 600,000 »12& 7,200
DIOtAHIA A BE = 50,000& *13] 50
DAOIMSSIH(RESH2IA)
60,0003 * 14 60
D=2 A AIE S bl (RILMS2)
120,000& * 13l 120
DIAHS2 et ASH (S AIJEA) 109,867
O AtR Al (te) 1,029& x32m" *BA| 2k 72 18,967
O ZII& (L) 1,029@ »128m *5A] 2F+60L 39,514
OdINE(He) 6753 *87m x5A| 2t %42 12,333
0ZJE 22J(2UER)
1,356 x18m x4 CH x5A] 2+ 80 39,053
ANAMSHAERIAE S 73,146 92,846 A 19,700
201 24l 45,053 49,753 A4,700
01 At 22l 22,529 23,729 A1,200
O1 et=2Hl 22,529
DAAMUHAIIN(2+2Ld]) M =2
100,000& * 13l 100
DEFIMA AASAE ZIEA =8
300,000& x13l 300
DS FINAA ==2(Z0HAS 1)
94,000& *13] 94
DAgHY otd2e HEsS(XLHS)
410,000& x12& 4,920




N 2HSAY
3 MEAE L%%BI

©? XIAH S22t (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
DXJHE I8 erd e (=ML
900kW) 1,059,200& 128 12,711
DS etz (S (ZHMHLE 10H)
167,000 =128 2,004
DSEA AHUES L HAES(HEAY 1004
2) 200,000& 128 2,400
02 =224l 22,524 26,024 A 3,500
O1 3322 ¥ HMA 2,024
DM+ EA 11,000 x92E *23| 2,024
O3 AIZ FHI =Xl 20,500
>SERAII| M2 10,000
O ¥ S LIE(320RT) 6,000, 000 1Al 6,000
O 2=52224(0.35MW) 4,000, 0003 =14 4,000
DOIAHA JIAEH S Ex(SHEZS 98)
300,000& 108 3,000
DHEEHEI KX B+ 250, 0002 »4CH 1,000
DOtAZE D ZofE S 1,000,000& 14 1,000
DM S, A3t8H AL+
2,000,000& =14 2,000
DEELEH SN+ 2,000,000 » 14! 2,000
DADNH L 24x MNP HABS(PC, RSB
2012 38) 1,500,000& 14 1,500
206 M= Hl 8,093 8,093 0
01 M= 4l 8,093 8,093 0
OXI|, S8, 28 UE XY WHIH(HBZ 95
) 220,000& x103 2,200
OLBIIH HW2HI (222 105)
200,000& x 123l 2,400
oueE #(s+) 60,000& 105 600
OJIAZBF P (SIINAMMUL 24F)
35,0003 258 875
O32=xJ| 0I8s2H 46,0003 =184 828
O3=J| Zel2H 35,000& *34 4 1,190
401 AlEHI 22 0hYI 20,000 35,000 A 15,000
01 A& HI 20,000 35,000 A 15,000
OXYME2 NEE BE-SAH(EIINH, B
oHE) 20,000,000& » 14! 20,000
&tz &2 95,545 71,672 23,873
yZFAE2Y 2L 55,281 29,774 25,507
101 124 dl 26,254 0 26,254
04 JIZHHZ22XREE S 26,254 0 26,254
O3F¢=3d 26,254
>llEs 47,4003 + 121249 11,803




2N
CHSAE 2d2e

el

X ZH
S =

S F AL &

gz

SA BB O () - MM - HES 0l &+ o4 il
D&tz 47,4003 #2492 /12& x4 & » 10! 3,935
DEFY 47,4003 =191 x52= 2,465
DAY 47,4003 #1112 569
>aad ¥ nEhl 250,000& =121 «12& 3,000
>EXZ 21,772,000€ /12 1,815
>R0AIEER 21,772,000& %4 5% 980
DAL BER 21,772,000& *2.945% 642
DEIRAEER 642,000& x6.55% 43
DNESBEE 21,772,000 *1.5% 327
DAUMNEEZ 21,772,000& *3. 1% 675
201 L2l 29,027 29,774
02 8323l 29,027 29,774
O1 3322 2 MA 27,684
DO I AOIEE 50,000& x12& 600
>AOCIE TVAIE Z 22,000& 128 264
DEZNERE S 60,000& x23| 120
DEIRS 2,200,000& =12 26,400
>RASt01ERE 2 20,000 128 240
D> et Aot E 3| 60,000& x13l 60
O2 Hd=l 1,343
DOIHFEI(ZCIAI2 15)
1,343 x5 x5A| 2H*40LY 1,343
LITFANERANE S 40,264 41,898
201 L2yl 17,454 19,888
01 At 2t2| i 12,024 11,904
O1 get=2Hl 10,824
DaEX L BHEES(SHEA 6L)
100,000& »12& 1,200
DAJtE MO8 ordAe Y= (A
500kW) 407,000& x12& 4,884
D AGAY otda2te (HEsE 230,000 +12& 2,760
D& otz ez 165,000& »12& 1,980
O g4tz 1,200
D22 &Hl X2 (X0 2F)
600, 000& *23] 1,200
02 8322l 5,430 7,984
O1 83322 ¥ HA 630
DOjelot=XelAlE 34 18& *24,0004 432
DM HA 11,000& x9E x23| 198
O3 A€ & bBls Xl 4,800
DIIHEE B4 (S8 ZCIRIIQA 65)
1,000,000& 14 1,000




SH: 2BAS AL L
HE: AL 2g2e

ool gEFBe (ol @)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
DULE )] R 2 100, 000& *13CH 1,300
P2, 2dd PHEDZ L LU A2
500, 000& *5CH 2,500
206 M = Hl 8,010 12,010 A4,000
01 X = Hl 8,010 12,010 A4,000
2§l & 20,000 x50 1,000
ORJI&b & 20,000& x50 1,000
Oogsdil dME = 13,000& *50 I + 1 3] 650
Octelg HoE 50,000 x4 = *x63] 1,200
O+ ¢ "Hua 3 100, 000& x4 = 400
O&I|, S, a8 8t XY TH=HI
150,000& 103 1,500
O&CI & BHE A 29,000 x40 1,160
OYUBIIH MBH (2L 15F)
220,000& *53] 1,100
401 Al HI L 2 0HHI 10,000 10,000 0
01 A& HI 10,000 10,000 0
ORFAYZH ALES RNL4(HI,IIH, 2E)
10,000, 000& * 1Al 10,000
405 RHoHFE S HI 4,800 0 4,800
01 JHAH =2 Z F S H 4,800 0 4,800
OFgA HMISED|(L0d3H2A-6KW)
1,200, 000& =4 LH 4,800
=0MSdHSH 1,076,963 895,307 181,656
=0 HFHAE 22 690,745 560,083 130,662
101 2124 d| 101,073 0 101,073
04 JIZtHI2E2EXNSE 101,073 0 101,073
OFF2UMHRHMEH HEEXH B 63,054
>II=23 41,7003 %201 %252 ! 21,017
> a2 875,700& 221 x43| 7,006
>EsY 41,7003 %2021 %522 4,337
PAIRSEIISEY 41,7003 *201 x 12 1,001
DA 2R AT
41,7002 /8x1.5%55A| 2+ %201 x 128 10,321
Daaldl & WESEZXH 250,000 x201 x12& 6,000
>EAZ 49,928,000 /128 «1.92A 7,989
>=20AZ2EES 49,928,000& *4.5% 2,247
DROAUEHS 49,928,000& *2.945% 1,471
PEAIIQABEZ 1,470,380 *6.55% 97
PNEaBEs 49,928,000& *1.5% 749
DAMTEE = 49,928,000& *1.039% 519
> Il = Hl 150, 000& 20! 300




SH: 2BAS AL L
HE: AL 2g2e

@ FYHSUE2E (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OEF2CUMSHEH S2c| ANE2IEX 38,019
>olEs 49,8003 #2021 x147 14,642
>aN= 1,045,800 x201 23] 4,184
DEsd 49,8003 22! «30= 2,988
>RSI RILY 49,8002 x2 2 +72 698
>AIRtE 2Rag
49,8002 /8+1.5%20Al 2+ %201 x7 & 2,615
DaSaltd ¥ WwsSEXH 250,000 x2Q1«7& 3,500
>EXZ 28,624,000% /78 1.5 6,134
>IBHZEER 28,624,000& *4.5% 1,289
DAL BER 28,624 ,000& *2.945% 843
DPEIRYEER 1,490,760& 6. 55% 98
PNEBEE 28,624,000& *1.5% 430
DAMTHEE S 28,624 ,000& *1.039% 298
> Il = dl 150,000& »20! 300
201 L2l 581,832 551,679 30,153
01 At 2t 2l 34,550 38,316 N 3,766
O1 g2t 31,334
DEREM2I+E2H 450,000& x12& 5,400
DABICEAN £3 4+ NBFLLE
50,000,000& *2.8%*12& 16,800
DESIZHIUAN(E, 2 EHEH BB QX
&) 2,634,000& x 14! 2,634
>OIZHE M (RE, VIE S)
6,000,000 »14! 6,000
DAY ASES 500,000 » 14! 500
O4 1=l 1,200
DOHE W22 100, 000& »221 x23] 400
DIIHA 22X 800
0s=,ot=2 100,000 *2021 x23] 400
oxgs 100, 000& 20! 23| 400
O5 =&l 2,016
DOt - 5222 7,000 32183 x 128 2,016
02 23=29gHl 547,282 513,363 33,919
O1 3322 ¥ HA 380,485
DI, €AF JIEZNE LEAHIIRSB
10,000 12| A x 123 120
DEAIN(HIASSHER) M3t
15,000& * 123l 180
DEIRS 17,000, 000& =128 204,000
Daot=ERa 14,000, 000& =122 168,000
DEINLRES 1,500,000& »23| 3,000
PUSRLRES 2,000,000& =13l 2,000




SH: 2BAS AL L
HE: AL 2g2e

@ FYHSUE2E (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
DEMYSFLE 200,000& 128 2,400
DeRHW AMEBE 50,000& 12& 600
Det=dE )= 3l 185,000& 10! 185
O2 H=l 166,797
>+ 22218
1,029 x101m «5A] 2k+320L 166,287
DHAE LI (300KN) - 2=
1,700& x300£ *13] 510
202 Odl 3,840 4,404 A 564
01 = LHA YI 3,840 4,404 A 564
O=CUN=sdH2YE YRF=&  320,000& 12 3,840
405 RHoHE S HI 4,000 4,000 0
01 AL EFFHSHI 4,000 4,000 0
OXIH H=2l(etLhtiA3) 2,000,000 = 1CH 2,000
OMsI(3Z4) 2,000,000 = 1CH 2,000
SN SHHAE R E S 386,218 335,224 50,994
201 LB-2d| 120,828 93,684 27,144
01 At 2t 2l 43,470 43,270 200
O1 get==2Hl 43,470
DRUMSHEH HLES (SR 255)
2,500,000& x12& 30,000
DAJtE M8l MRS (=& A Hl1, 40
Okw/ Bl &2 & D1 300kw) 3,600,000 » 14! 3,600
DAYAY tdEH W Z 450,000 x 122 5,400
D& otdzte] = 250,000& x 123l 3,000
D2 HIIEA =2 120,000& * 13l 120
DEFNAAEANE FINEE =2
350,000& =13l 350
DEAUAIDN(EL]) BAx2
250, 0003 *2CH +23] 1,000
02 =224l 77,358 50,414 26,944
O1 3322 ¥ HA 14,758
PUSAS(HAEY S HBHH)
471,900 x12& 5,663
PESE BA(KSESEY 455)
15,000 x180& +0.85 2,295
DM HA 8,000& «200= *23] 3,200
DIfelot=xelAld 34 2 |22
300,000& =128 3,600
O3 A& ZHl s Xl 62,600
D& HIASESEX SXN(SLI SMIE
HE) 1,000,000& = 1CH 1,000
DOIEEZ ZHU 65,000 *40CH 2,600
DEXRIIEH wHd ¥ 22l 1,000,000 «3CH 3,000




N 2 HMFSAE A

Ha: MSAL 2B

el FUMSHE2S (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
D =ZFAI B+ & ZHLA
1,000, 000 *2CH 2,000
DEsA H24I](180RT) Al2Z At
4,000, 0003 * 14! 4,000
DAEEEY H SuE)| AZSA
6,000,000 » 14! 6,000
DSE2I AL KA
20,000,000 =14 20,000
DGy SAAAMAH RAEX(EIL
15) 5,000,000 » 14! 5,000
DRAGHANAE RAEL (G EHEL 3F)
10,000, 0002 14 10,000
DUASHOAHAMAY X242 5,000,000 14! 5,000
DEAIAEH SANES 400,000& x10& 4,000
206 M= Hl 33,390 31,540 1,850
01 M= 4l 33,390 31,540 1,850
ORI (A A2 E, MEH, RE)
100,000 *50A E 5,000
OFI|, S8, 2, HBW, TYYI(SZ))
2l 208) 500,000& 108 5,000
O=Z& 2EEE 10,0002 = 1004 1,000
OdUE (g%, 8AF, ot&4A, 4H) ¥
9| I 50,000& *50H 2,500
O=dT A=A 1,300,000 12& 15,600
OdlHER0IJI (= . &EA AFRE HIXE)
30,000& x30& 900
OJIAA 3R (ATWUHR 308) 35,000&*305 1,050
OMHIl & B+ 20,0002 1174 2,340
307 21201 A 187,000 150,000 37,000
05 BIZERIE 3 187,000 150,000 37,000
OFFIUMESHH(=EE &), d2EMS
2 3Asd 187,000, 0003 * 14 187,000
401 AIEHIZL 2CHYI 45,000 20,000 25,000
1T AIZHI 45,000 20,000 25,000
OAZZDIMSUE ANES SNBA(AS, ®I|
LA 10,000, 000 * 1Al 10,000
OF=IUMSHEH =EHI WIS AH20HP*2
o) 15,000,000& * 14 15,000
OJF2ZLUNMSHE LED AZHEE LWH3AM
20,000,000 * 14! 20,000
JIEFNI S Al & 2t el 35,156 45,700 210,544
JIEtHEAIE2g 2el 14,520 14,280 240
201 LBt 14,520 14,280 240
02 2324l 14,520 14,280 240




k>

N 2HSAY
g HMSAME 2822

Sl JIEtMS Al E 22 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O1 3322 ¢ AA 14,520
PEANLLS S (UR2HSD)
660,000& *23] 1,320
DEIQS(H2HSZ) 1,100,000 =128 13,200
JEHHEANERXE S 20,636 31,420 A 10,784
201 Le-2E| 9,036 10,320 AN 1,284
01 At 2t 2l 4,800 6,084 N1,284
O1 get==2Hl 4,800
DHMRASZ XItE dI|&8d] 2| CHE
Z (=&l 63KW) 100,000& 128 1,200
PSS AYLY FFFY BB
300,000& »12& 3,600
02 2324l 4,236 4,236 0
O1 3322 ¢ HA 1,236
DIfelotHMelAld (H2Hs2)
18& %25,000£ 450
DMasX HA(H2HSZ)
11,000& *33& *23] 726
D eI AU 3 H| (A otE 22| Xt)
60,000& x 13l 60
O3 Al ZHl s Xl 3,000
DHMSAE M, S+, A8EH RAEx
3,000,000 » 14! 3,000
206 M= Hl 1,600 1,100 500
01 =8l 1,600 1,100 500
OLBIIIA ML (L2l 15F)
120, 000& *52] 600
OXI|, Sl A UE XA HEH(BZQ 4
E) 200,000& 53 1,000
401 A& HIZ 201 Y] 10,000 20,000 A 10,000
01 A& HI 10,000 20,000 A 10,000
OJIEtMESAIE ANEE2 SAE2(EI,I1H,AH
%) 10,000, 000& 14! 10,000
=332 267,458 200,758 66,700
HESJAANE2F 2 37,188 37,008 180
201 £B-2dH| 37,188 37,008 180
02 =224l 37,188 37,008 180
O1 83322 ¥ HA 37,188
Do -t MES 2,024,000& 123 24,288
PEIRS 1,000,000& 128 12,000
DOHEO =033 S0lAIE ey BE=
900,000 » 14! 900
HESJAANERINE S 230,270 163,750 66,520




2N

SIS AL A

M HMESAE 222
??: Mszd2a (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
201 L2l 27,080 27,560 A 480
02 2322l 27,080 27,560 A 480
O1 3322 % HMA 25,080
DHMaZX HA(H2I0l =013 24U) 25,080
Ot 2= 11,0003 x25E +83| x6 A 13,200
oHgHd 2= 11,0003 *45E+43| x6 & 11,880
O3 Al EZHIR X b 2,000
PHSBRAE 3 AL 224
2,000,000& » 14! 2,000
206 M= Hl 4,190 4,190 0
01 =8l 4,190 4,190 0
OLEIIH HWBH (2L 155)
150,000& *53] 750
O&Jl, sS4, A g4E 2H WHEH|
200,000& 53 1,000
QUE(HF, 537, BHEQEH) 60,000 =154 900
Otte & =2 A2 MEAN
11,000 = 1404 1,540
401 AIEHIZ 28I 199,000 132,000 67,000
01 A& Hl 199,000 132,000 67,000
OMS=d AME28 RNB2(EI], JIH, H8)
25,000,000& =14 25,000
O020ls012% (0t , 8d) 2HED &
2= (3.7KW) 5,000,000& =3CH 15,000
ONESI3U SETAE X ZA
50,000,000& =14 50,000
O=X=2| 109,000
D RI=EY 300& *70,000m %23 42,000
> &C 2D 300& +70,000m x23] 42,000
>ASTU (SSHSL 5H2)
25,000,000& = 14! 25,000
s HsHE2e 427,250 338,020 89,230
B2t 170,176 168,562 1,614
201 Let249] 170,176 168,562 1,614
01 At 22l 11,780 10,932 848
O1 gt==&H| 7,880
D3RME W 700 *1,00001 x23] 1,400
DASZOIEH EEE ME
3,000, 000 1Al 3,000
>=AMEX 360,000 » 14! 360
DRAERAEZ 50,000& *12& 600
D2t MI(>FE #AK) 50,0002 «128 600
DAMS0E 15,000 x5t A %123 900




N 2 HMFSAE A
g HMSAME 2822

& sUMSUE 2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
CABIICZH 254 NBBLrE
5,000,000 *1.7%*12& 1,020
O4 1l =l 1,200
DOHE W22 100,000& »2Q1 x23| 400
PrPdASE #E 200, 000& »20! 400
DIIHA 22T 400
O0s%=.,0t= 100, 000& »20! 23] 400
O5 =&l 1,800
Dot 2 5 22X 150,000& 128 1,800
O6 21tz 900
> &= 25,000 «3CH =128 900
02 2324l 158,396 157,630 766
O1 22322 % HA 57,112
DSAIN(HIASSHER) a2
15,0002 128 180
DAMYSSAZ 21,0002 128 252
DEZNLRES(MSAEER)
1,000,000& »23] 2,000
>PHEIIRS 3,700,000& x12& 44,400
Da -t AMES 700,000 128 8,400
DIOIAHIAMAESE S 20,000& %13l 20
DXot=0I2ERE = 150,000 128 1,800
DE 2 AYIME S H (A2 XL
60,000& x 13l 60
O2 ¢zl 98,784
DsUISHMSHAH 4 D 25 (S AL
1,029 x120m 2 5A| 2k*320 98,784
O3 A&l |SXdl 2,500
DHEA Z20H RAES(GE, @A)
1,000,000& * 14 1,000
DAIRE &4&DD] 2 1,500,000& 14 1,500
HEHANESXE = 257,074 169,458 87,616
201 L2l 54,074 54,058 16
01 At 22l 19,518 21,518 A 2,000
O1 get=2Hl 19,518
Dot M 2 HA E2F 500,000 128 6,000
DA TtES ZEA 10,000 20 A 6 120
D Fe A4E 100,000 *2AI E 200
DRI BSEH & 2,150 15& «12& 387
>HIOd 28 2 Y 35,0003 64 23] 420
DEFINMA MBAE FIZME=2
270,000& = 13| 270
D& HIIM =22 (SHE 1U)
130,000& * 13l 130




N 2 HMFSAE A
g HMSAME 2822

& sUMSUE 2 (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
DEYe HIFEA =5 300,000& 12 300
DAYAH tMEZ W= 350,000& 128 4,200
DXJHE I8 erd e (=X LI
D50KN, 2 FI| 115KN) 404,250%1 * 12 4,851
D& otz HHAZ(SHE 10H)
220,000& =128 2,640
02 =224l 34,556 32,540 2,016
O1 33223 % AMA 3,336
DH=X EA 11,000& *102E *23| 2,244
DREALS 50% *4,368m 53] 1,092
O2 ¢ =l 680
DHIAE LI (115KW) -2 =
1,700& %4002 =13l 680
O3 AIE ZHI =Xt 30,540
>EYI HINSSEI X (S BAIE
HE) 1,000, 000& *1CH 1,000
D22 A2 5,000, 000& 12 5,000
Dadd 6u) & 6N nH HEA
4,500,000 =12 4,500
DRIM HH B2(HH&2 58)
1,500, 0003 * 14! 1,500
Dz 2 EA(HM) 2,000,000« 14! 2,000
Dy X2 100, 000 16 CH 1,600
P =ML 83 Fa
11,000& »40& 440
DEE2I ALY RAES
4,500,000 14! 4,500
PBIOIANE RIE+ 4,000,000 = 1CH 4,000
DAYAE RAE+ 4,000,000& 14! 4,000
PESELI RAES 1,000, 000 2CH 2,000
206 M= Hl 18,600 19,200 A 600
01 M= 4l 18,600 19,200 A 600
O=ZH A=AS 450,000& x12& 5,400
222 F2H 200,000& 128 2,400
OUE(s7, tHESEH, i S)
100, 000& 7 JH 700
OgAE IR (EEQ 9T) 1,100,000 * 1Al 1,100
Ox=g& . dAZd 424 ME 1,000,000 14! 1,000
OHI|, S8, 28, UE 2H HEH(HZ 2 19
E) 100,000& 205 2,000
O=3dE & 2AMI|R 50,000& =404 2,000
OHdIH LED SII+ 7¢ 2,000,000 14! 2,000
Ox=Zd ES(IIHE=2R 28) 2,000,000 *14] 2,000
207 A O] 12,000 0 12,000




N 2 HMFSAE A
g HMSAME 2822

@2 sUMsSHH22 (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
02 & AHJH EHH] 12,000 0 12,000
OdSEH2IANAEY 2= 12,000, 0002 * 14 12,000
307 QI2t0| ™ 60,000 55,000 5,000
05 A2t E 2 60,000 55,000 5,000
Os2ZSNHH FLESA
60,000,000& *14] 60,000
401 Al HIL 201 82,400 26,000 56,400
01 Al &bl 82,400 26,000 56,400
Os02SMSHE AIE2 SXEE(EI],I1H
J2HE) 10,000, 0003 * 14! 10,000
OESAAE =0 2 RF (=R dAH)
H& A X 15,000, 0003 * 14! 15,000
OSEANAEY 250 HE MXII| F0H &
Xl (320EA) 22,400,000 » 14! 22,400
O=s2RsMSHE XS 243 AHA=300m)
15,000, 0003 * 14! 15,000
O2x=Hz ZEET WHZAH(10T)
20,000, 000& *14] 20,000
405 XtabF SHI 30,000 15,200 14,800
01 AL 2B F SHI 30,000 15,200 14,800
OFFXolxA =320 10,000, 000& *2CH 20,000
ORolgeAI 10,000, 000& *1CH 10,000
dIEMESE 29 108,649 121,825 N13,176
deEXMEs2 22 73,104 59,400 13,704
201 et A bl 73,104 59,400 13,704
01 AFR2 2t 2l Yl 2,400 2,400 0
O1 detx=2H| 2,400
>AINE 2d =24 200,000& x12& 2,400
02 3524l 70,704 57,000 13,704
O1 2822 ¢ MA 70,704
DS (HASSER) etz
15,000& 123 180
DEIR=S 4,400,000& x12& 52,800
> ESCOAY AtEHZ2 1,227,000& x12& 14,724
DEFIINREZ 1,000,000& 23] 2,000
PUERLFEES 1,000,000& x13] 1,000
HeEMESAANERNES 35,545 62,425 N 26,880
201 et A | 20,845 17,725 3,120
01 AFR22t2l Yl 18,345 17,725 620
O1 detx=2H| 18,345
DAUAZIEMES FASE(SEXY 255)
6,000,000 * 14! 6,000




N 2 HMFSAE A

HE: AL 2g2e

Sel: WRAEHSH 29 (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
DESI ZHRAM(E® dXMel, =Ml 2H
2L WYl ZE) 800,000 1Al 800
DYAAS 503 +2,897m *53] 725
DHsZEA 11,000& *50 & »22] 1,100
DES}EFEA 18,000 x80E * 13l 1,440
PROIE MIlAH HHIEG GBS (LW
400kw) 330,000 128 3,960
DAYAY ord2e] tHE 150,000 x 128 1,800
D& otdate] ez 200,000 12& 2,400
D2 HIFEA =2 120,000& * 13l 120
02 =224l 2,500 0 2,500
O3 AIZ€ ZHI =Xt 2,500
D& HIASSER (5L BAIE
HE) 1,000,000& = 1CH 1,000
DUACIEMS2 oo, MY A2+
1,500,000& 14 1,500
206 M= Hl 4,700 4,700 0
01 M2 4l 4,700 4,700 0
OUE(Z4, HHEaH) 70,000& =104 700
OFI|, 4, A% ZHBT (S22 205)
200,000& x10& 2,000
O+TUS(SANST, SFAEH) L 40|
- 50,000& *x30& 1,500
OFs & =22 MEHEX 50,0002 =104 500
401 Al HI L 2 THHI 10,000 15,000 A5,000
01 A& HI 10,000 15,000 A5,000
OYRIEH K AEE SNEH(AS, | &
g ) 10,000, 000& 14! 10,000
AFSEMsH 587,188 0 587,188
FFSEHsIS 2 449,085 0 449,085
101 14 Hl 18,014 0 18,014
04 JIZHHZ2Z2XNHEE S 18,014 0 18,014
OF=ZEHSZ IBSA MERI BX 18,014
>ll=s 47,4003 +121 147 6,968
D a0z 1,045,800 121 %23] 2,092
PEsad 47,4003 101 26 1,233
POERERItrE 47,4003 1016 285
>AZI 2R AT
47,400/8%1.5%20A| 2+ 101 «7 & 1,245
D2AH Y WSEXH 250,000 *121x7E 1,750
>EAZ 13,570,000& /7& x1.54 2,908
Doz EE= 13,570,000& x4 . 5% 611
DABALEER 13,570,000& *2.945% 400




2N
X ZH -
L= B

el

S F AL &

SA - ZE-B(EA) - NRAY - B S il 2
PEIRALEER 400,000& *6.55% 27
PNESBEZ 13,570,000& *1.5% 204
DAMATNEE = 13,570,000& *1.039% 141
> Il = 4l 150,000& = 12! 150
201 LBH2EH| 427,491 427,491
01 At 22l 6,384 6,384
O1 et 6,384
DEREMA2I=E2H 200,000& 128 2,400
DAEI JUZE 41,000& =20 =128 984
DAANZE=IY P (EST+2, 1SET)
3,000,000 » 14! 3,000
02 Z=2Z 4l 421,107 421,107
O1 3322 € HA 211,695
DSAIN(HIASSHER) a2
15,000 128 180
PNERULES
350 *13,063.06M *0.82%0.5 1,875
DEFNERE S 2,500,000& »23| 5,000
>HEIIRS 15,000, 000& =122 180,000
Daot=ER3 2,000,000& +x12& 24,000
DA MIESE = 300,000& =13l 300
Det=2dME) S EIH(ZEHUEH)
100, 000& =12 100
DAYOIMESH ¥ S22t 3l
gl 120,000& * 13 120
> st el AHE 3l bl 120,000& * 13l 120
O2 ¢zl 209,412
DESMSZ LY AZH (S AIIEA) 209,412
oZINF ()
1,029 xQON M x8A| 2+ *x2CH +72 106,687
OZINF(He)
6753 x 120N M x8A| 2+ *x2CH +72 L 93,312
0&JELH 6753 *8Al 2H+20 722 778
OLExA HUHUE(ER)
1,700 *6Al 24 CH 90 3,672
OFAUIIE HEE
1,356 *4 Al 24«72 1,563
OHlAg LEII(700kN) - R
1,700& %2,000£ =13l 3,400
405 XH&kE S| 3,580 3,580
01 AL ESFHSHI 3,580 3,580
OdANES LA L At TH 300,000& 24 600
OZgHs2 2RI My 150, 000& * 1K 150
OsgHd=a 224 AL 180,000& =14 180




SH: 2BAS AL L
HE: AL 2g2e

oelr AFZHUSD (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OSEMHs2 MBY HED 700, 000& *2CH 1,400
OZTEHSZ AR TV 1,000,000& = 1CH 1,000
OZEHEZ MR dZD| 50,000 *5CH 250
AFEEMSZANERINES 138,103 0 138,103
201 Let2d] 98,398 0 98,398
01 At 22l I 36,690 0 36,690
O1 gt=&Hl 36,690
DotEAM U HAZE(SEIL 155)
1,500,000& =122 18,000
DAAMUAID(2+2Ld]) M =5
150,000& =3CH 450
DEFINA AASAE FIZA =2
600,000& =13l 600
D& FIIIAMN =2 (200)
240,000& =13l 240
Dagtddl et =
1,200,000& =122 14,400
D& otdzte] ez 250,000 128 3,000
02 2324l 61,708 0 61,708
O1 223232 2 HA 31,708
DM HA 11,000 & *464 E x23| 10,208
DYW2AE FA 600, 000& *6CH*32] 10,800
D2A Y HaT B 500,0002! * 14} 500
>XoHE &8 FA& 1,200,000 * 1Al 1,200
DAItE &II&Hl etE & EHY|
9,000, 000& =12 9,000
O3 A& ZHl s Xl 30,000
DESME2 AEEH S
30,000,000& =14 30,000
206 M= Hl 39,705 0 39,705
01 =8l 39,705 0 39,705
OXI|, S8, 28, gE Y WHEIL(HZ 98
) 250,000 108 2,500
OFZM & A2(BELHE) 190,000& 128 2,280
Ood, g sX2cl M=l 5,000,000& =14 5,000
OSZAE & AMLH(HEQ 55)
3,000,000& =14 3,000
O=s7% ESHE(ZFZZHY) - 8m+8m
250,000 =404 10,000
OUE(s+) 60,0002 x103 600
OJIAHBSPA(SIATHUHSL 24F) 45,000& *255 1,125
O3x)| DIS2H2 28 95,0003 804 23] 15,200
HH2F A 294,721 17,078




A SSHSAME A
Hu: @A RY|
©e: OE2IH (2 MSAIE 2) (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
I SAH| (23 ME AL L) 199,915 219,241 N 19,326
QI 2AHI (23S A A) 199,915 219,241 A 19,326
101 @121 199,915 219,241 AN 19,326
01 2= 140,212 144,522 AN4,310
OAZ2ZAZ22E 8,754& x2201 x540 Al 2+ 103,998
O822I (=20 s HEHH) 36,214
Dot 222 23,3443 %401 %3652 x1/2 17,042
> AR e 2R 4
8,754 x4 Q1«3 A| 2+ %365 x1/2 19,172
02 JIEt& E % 59,703 74,719 AN 15,016
OAZ2HAZ222Y 8,754& x1321 *x300 Al 2+ 34,141
oorz224 23,3442 x601 %3652 x1/2 25,562
JI2ZH (2 HESAEA) 94,806 58,402 36,404
Jl2dH (2SHSAEA) 94,806 58,402 36,404
201 Bt A | 76,206 39,606 36,600
01 At 22l Yl 19,056 19,056 0
O1 dEtx=2H| 12,000
>DEANSIG+ZEH 1,000,000& x12& 12,000
O5 =&l 7,056
>Oor2t - 5422 7,000& x 1421 x63| x» 12& 7,056
02 352494l 57,150 20,550 36,600
O1 2222 ¢ HMA 55,100
>2UlE0lgxr2 200,000 *33] 600
DEIJIIIXI M (A THA 2 TH)
520,000,000& *10/100 52,000
DASAAHN B8 SHIMEEE 2
2,500,000 * 14 2,500
O4 XA EH| 2,050
DEAE SIEX 3,416,000 =101 *60/100 2,050
202 04| 13,320 12,516 804
01 2LHOHI 13,320 12,516 804
OJlgg2+8uy| 1,110,000 x12& 13,320
203 &R =&H| 5,280 5,280 0
02 R R =AY 1,080 1,080 0
OFIAINNMAR =AY 40,000& =272l 1,080
04 ENSI IR =AY 4,200 4,200 0
OFN2II2F&Y| 350,000& x12& 4,200




